
c"ryz sxeg

miqcpdnl zeakexn zeivwpet

zeipenxd zeivwpet .zeihilp` :5 dzik libxz

.f(z) = xy + i(x2 + y2) divwpetd dpezp .1

dcewp s`a zihilp` dpi` f ik e`xd (`)

.dcewp s`a zipenxd dpi` v = x2 + y2 ik d`xp

vxx + vyy = 2 + 2 6= 0 ok`

ziy`xa dxifb f ik e`xd (a)

ziy`xa C.R ly meiw wecap

ux = y, uy = x, vx = 2x, vy = 2y

.uy(0, 0) = −vx(0, 0) = 0 e ux(0, 0) = vy(0, 0) = 0 okle

z 6= 0 dcewp s`a dxifb dpi` f ik zeyxetn e`xd (b)

`l f ′(z) ik leabd zxcbd itl d`xpe f(z) = <(z)=(z) + i|z|2 meyxp
leaba opeazp .z 6= 0 lkl zniiw

f ′(z) = lim
∆z→0

<(z + ∆z)=(z + ∆z) + i|z + ∆z|2 −<(z)=(z)− i|z|2

∆z

dnecnd wlgd xear mi`znd leabd z` meyxpe ∆y = 0 gwip

lim
∆z→0

|z + ∆z|2 − |z|2

∆z
= lim

∆z→0

(
z + z

∆z

∆z
+ ∆z

)
=

= lim
∆x→0

(
z + z

∆x

∆x
+ ∆x

)
= z + z = 2<(z)

lawpe ∆x = 0 gwip zrk

lim
∆z→0

|z + ∆z|2 − i|z|2

∆z
= lim

∆y→0

(
z + z

−i∆y

i∆y
− i∆y

)
= z−z = −2i=(z)

daiaq s`a dxifb dpi` `id ,ziy`xa dxifb f y zexnl ik al miyp
my mb zihilp` dpi` okle ziy`xd ly

1


